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N 15 mL 45 mL
1. NaOH N 21.5 ¢ 1
2. o 95°C
- 95°C 2 min
CH,CH,Br + NaOH —C,H, T + NaBr + H,0 °
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2+ -
Fe Br Cl,
444100
518101
. Br,( ) +2e =—==2Br~ 1.087 V
Fe'* +e =——=Fe¢’* 0.770 V
Cl, Fe" Br- “cl, 2Br~ + Cl, =—=Br, +2Cl~
Fe’* v B 7 L@ e 2(1.3583 V-1.087 V) _
T 0052V T 0.0592 V -
n( CL,) : n( FeBr,) <1:2 Fe’*  Cl, 9.166 K =1.465x10",
o 1:2 <n(Cl) : n(FeBr,) < 0. 1mol/L 0. 2mol /L,
3:2 Fe’* Cl, JBr- Cl, KBr R
n( CL) :n( FeBr,) =3:2  Fe’* Br~ e(Cl) =« Br,
Cl, . n(Cl) n(FeBr,) ( ) K =
2
Cl,  FeBr, xx (29) = 1465 x 10°
( ) (0.1-2x)>x(0.05 -x)
( ; 8x’ 2x
Cl, —— = = 1.465 x 10° =
1 -2x)° 0.1-2
FeCl, . KBr . (30 1-2x) !
9
FeBr, al, Pt Br- J1.465 x 10 x=0.4996 mol/L.
Fe’* Cl, Br
D) ::Cl 2Br™ + Clz :BI‘2 +2Cl~
" 2
F62+ Br— » BI'7 Clz 99 9% o
2Fe’* +Br, 2Fe’* +2Br~
N ok 2 ¢, —¢"  2(1.3583V-1.087V) _
70052V~ 0.0592 V
_ 10
CL +2e =—=Cl" 1.3583 V 10.709  K=5.117 x10".
> .
. 1 . .
3. 1
4 2
5. 3

( 12014 — 04 - 08)



